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° There are 4 questions in this exam paper.
e Answer all questions.
. Write clearly and tidily.
o Correct answers without sufficient explanation might not get full points!
. Mobile phones must be switched off in the exam room.
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Q1) [34 points]
Assume that DATA 1 starts at address 06H. Show the offset addresses (in
hexadecimal) and the memory contents (in hexadecimal). You may use the ASCII

codes shown below if needed.

DATAL
DATAZ

DATA3
DATA4
DATAS

.Data

DB 00110111B
DD 27, 35E48ACH

ORG 2EH
DB 'Quiz !
DW 4FH

DB 2 DUP(74H)
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Q2) [20 points)

Answer the following questions.

Memory Memory
Offset Add. | Contents
(in Hex) (in Hex)
oé 37
07 B
08 o0
09 00
oA o0
o8 AcC
: = oc %8
a s [ oo s
= - o0& 03
: ; 2€ 51
. r 2F ?5
: e 30 49
2. E 31 ?A
32 2
o va| 33 31
3 | 3y Ma
2] a5 00
36 2i
37 2

a) [10 pts] If SS=5CE1H and SP=46A8H, calculate
the physical address (PA) of the stack segment and the highest address

available in the stack segment. .
PA = SSXib+ SP = SCEIO 4648 = GBS H

b) [10 pts] Consider the following instructions

MOV AX, OFFFEH

ADD AX, 2H
INC AH

AH=.... QL (in H)
Al=......00. ... (inH)
CF=..0 (inB)

ZF=.{... (inB)

Find the contents of AH, AL, carry flag (CF) and zero flag (ZF).



Q3) [30 points)

Trace the following program segment and find the contents of Stack, AX, CX and
DX. Note that the stack grows from higher addresses to lower addresses.

.DATA

DATA1 DW 460EH, 7A8BH
.CODE
MOV BX, Offset DATAIL
MOV X, [BX]
MOV DX, 6CO7H
MOV AX, [BX+2]
PUSH CX
PUSH AX
PUSH DX
DEC sP
POP CX
POP AX

AX=...8B6C . (nH) CX=..

Q4) [16 points]

LOEXK o (inH)

Address Stack

CXz=Ub0E -
BX= 6C0? LECSP —p XX
- P62 07
RX=7ASEB 5
> SP=L by £8
A
SSP=l2 & o0&
Y&

SP=4268H —»

DX=...6C0% ....(nH)

Let
?F—

PopP Ccx

g PoP Ay

Trace the following program segment and find the contents of AL, BH, CX and ZF.

MOV CX, 2
MOV AL, 38H
MOV BH, 3AH
CMP BH, AL
JA Next

JMP Exit

DEC BH

LOOP Again

Again:

Next:

Exit:

39

AL=.. 3% (inH) BH=..3%. ..

(X AL Bk 2F
o002 38 3A o
oo 1l 33 o)
0000 33 i
(inH) €x=.0000  (inH) ZF=..ZL..(nB)






